CONFIDENTIAL

Universiti Tun Hussein Onn Malaysia

UNIVERSITI TUN HUSSEIN ONN MALAYSIA

FINAL EXAMINATION
SEMESTER 1

SESSION 2013/2014

COURSE NAME :  FINANCIAL AND INVESTMENT
MANAGEMENT

COURSE CODE :  BPB 23403
PROGRAMME :  3BPA
EXAMINATION DATE :  DECEMBER 2013/JANUARY 2014
DURATION : 3 HOURS
INSTRUCTION :  ANSWER ALL QUESTIONS

THIS QUESTION PAPER CONSISTS OF ELEVEN (11) PAGES

CONFIDENTIAL




Q1

(2)

(b)

(©

BPB 23403

Briefly define the followings:

(1) Eurobonds

(2 marks)
(i)  Zero coupon bonds

(2 marks)
(iii)  Junk bonds

(2 marks)

Broader Berhad’s bonds have seven-year maturity periods and pay 9 percent
interest annually. Your required rate of return is 7 percent and the current market
price for the bond is RM1, 100.

(1) Determine the expected rate of return.
(4 marks)

(ii) Calculate the value of the bonds given your required rate of return of 7%?
(4 marks)

(iii)  Evaluate the buying decision of the bond at the current market price.
(2 marks)

Creative Q Berhad plans to issue bonds to expand their operations. The bonds will
have a par value of RM1,000, a 10-year maturity, and a coupon interest rate of
9%, paid semiannually. Current market conditions are such that the bonds will be
sold to net RM937.79.

Calculate the yield-to-maturity of these bonds.
(4 marks)
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Your company’s Chief Financial Officer (CEO) give you an assignment to evaluate two
mutually exclusive projects, both with five-year expected lives and identical initial
outlays of RM110,000. The required rates of return for both projects have been
established at 12 percent. The expected free cash flows from each project are as follows:

Project A Project B
Initial Outlay (RM110,000) (RM110,000)
Year 1 20,000 40,000
Year 2 30,000 40,000
Year 3 40,000 40,000
Year 4 50,000 40,000
Year 5 70,000 40,000

You are required to provide answer to the following questions:

@) Calculate the discounted payback period of each project

(4 marks)
(i)  Determine the Net Present Value (NPV) for each project.
(3 marks)
(iii)  Determine the Profitability Index (PI) for each project.
(2 marks)
(iv)  Determine the Internal Rate of Return (IRR) for each project.
(6 marks)

(v) Based on Q2(i) to Q2(iv), which project should be accepted? Justify your answer.
(5 marks)
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Fiber Asia Berhad is considering the factoring of its receivables as to improve
collection. The firm has credit sales of RM500,000 per month and has an average
receivables balance of RM1 million with 60-day credit terms. The factoring
company has offered to extend credit equal to 85% of the receivables factored less
interest on the loan at a rate of 2% per month. The 15% difference in the advance
and face value of all receivables factored consists of a 2% factoring fee plus a
13% reserve, which the factoring company maintains. In addition, if the company
decides to factor its receivables, it will sell them all, so that it can reduce its credit
department costs by RM2,000 a month.

Calculate the cost of borrowing to Fiber Asia Berhad if the company chooses to
factor its receivables up to the maximum amount of credit.
(10 marks)

Calculate the effective cost of the following trade credit terms if the discount is
foregone and payment is made on the net due date.

(1) 2/15 net 30

(2 marks)
(ii) 2/15 net 45

(2 marks)
(iii) 2/15 net 60

(2 marks)
Briefly define the followings:
6 Line of credit

(2 marks)
(ii) Compensating balance

(2 marks)



Q4

(a)

(b)

(©

(d)

BPB 23403

Focal Aims Berhad plans to issue 10-year bonds with a par value of RM1,000 that
will pay RM55 every six months. The net amount of capital to the firm from the
sale of each bond is RM840.68. The company is also in the 25% tax bracket.

Calculate after-tax cost of debt?
(4 marks)

The common stock for Supreme Berhad currently sells for RM40 per share. If a
new issue is sold, the flotation cost is estimated to be RM7 per share. The
company had earnings of RM2.00 per share four years ago. Next year, the
company expects to have earnings of RM3.22 per share. The company maintains
a constant dividend payout ratio of 40%. Earnings per share are anticipated to
grow at the same rate in the future. The firm’s marginal tax rate is 30%.

Calculate the cost of internal equity capital and external equity capital.
(6 marks)

The preferred stock of Surimas Berhad sells for RM17 and pays a RM1.75
dividend. The net price of the stock after issuance costs is RM15.30.

Determine the cost for preferred stock.
(2 marks)

A firm currently has the following capital structure which it views as optimal.
Debt: RM3,000,000 par value of 9% bonds outstanding with an annual before-tax
yield to maturity of 7.67% on a new issue. The bonds currently sell for RM115
per RM100 par value. Common stock: 46,000 shares outstanding currently selling
for RM50 per share. The firm expects to pay a RM5.50 dividend per share one
year from now and is experiencing a 3.67% growth rate in dividends, which it
expects to continue indefinitely. The firm’s marginal tax rate is 40%.

Calculate the firm’s weighted average cost of capital.
(8 marks)
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Differentiate between direct and indirect quote.

(4 marks)
Define exchange rate risk

(2 marks)
Briefly explain TWO (2) types of exchange rate risk.

(4 marks)

The following Table Q5 contains information on selling quotes for foreign
currencies in New York.

Table Q5: Selling Quotes for Foreign Currencies in New York.

Country-Currency Contract $/Foreign Currency
Canada-dollar Spot 0.8437

30-day 0.8417

90-day 0.8395
Japan-yen Spot 0.004684

30-day 0.004717

90-day 0.004781
Switzerland-franc Spot 0.5139

30-day 0.5169

90-day 0.5315

Based on information given in Table Q5, answer the following questions:

(@)

(i)

(iii)

An American business needs to make the following payments to
businesses abroad: (a) 10,000 Canadian dollars, (b) 2 million yen, and (c)
50,000 Swiss francs.

Calculate the dollar payments for (a), (b) and (c).
(3 marks)

Compute the indirect quote for the spot and forward Canadian dollar,

Japanese yen and Swiss franc contracts.
(4 marks)

Compute the Canadian dollar/yen and the yen/Swiss franc spot rate from
the data in Table QS.
(3 marks)

-END OF QUESTION-
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